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1 ,With'whichAmendmehtoft_h‘e Indian : 5. Name the author of “The Coalition |
: Years— 1996 t02012":" -

(A) Bﬁddhq_dev Bhattacharyg

(B) PranabMukherjee -~

(C) Manmohan Singh

(D) -Upendra Baxi

‘Constitution Goods and Services Act

is associated ?
(A) -~ 98th-
(B) 100th -

C) 101st is the '
©) | 6. Where is the Headquarters of

() toznd . . UNESCO ? -
AN ACANMA R A) ., Londor
2. ANACONDA16 organised by V. London N
Polandisas e . (B) Rome /7
o roen IS,-a' o (C) Geneva .
(A) MlhtaryExermse B _ (D) -Paris : . E
- ® ,Cultural.S‘hovy.'__l_ | . 7. ldentifythe odd one : :
(C) " SnakeFestival - (A IGI el
(D): Noneofthess =~ .. - (B) ECoSOC ~ ~ *

, (©) WHO
3. Whoisthe Chaiperson of Inter-State =~ '(.D) UNSC' R

- CouncilinIndia? .,

. S 8. "'PiCKthe'ddd"One': R
(A) Pres}dent R ' A) Gensva
(B) - Prime Minister...... . . (B) Offawa LE A
(C) Vice-President_-,- L aE ’7'(C) Cahberra - R T
(0) HomeMinister .~ . - (O) Madid
4. International Day for Elimination of 9. To monitor Universjailil{-lousehold
. \ﬁbienCeAgéinStWOmen is_held on: E_Iectriﬁcation ‘which web-portal is
- , launched ?
-'(A) ‘2l£'>.thNovembclarf"~'l< | (A) SmartNet NV
(B) - 1stDecember - - B) Saugan . ... . .
(C) 18thDecember (C) Mygaav -
(D) 3istDecember o (D) Saubhagya . .
HG-1AR7 N o2y | v Contd.




0.

1.

(B)
(C)

.Which day is celebrated as

Constitution Day in India ?
{A) - 26th January
15thAugust """
26th Noveriber

(D) 9th December |~

: Rakhi'ne'.State |s in:

© () Thaland

12.

13.

LA
=)

44,
(A} . 26thJune

(B)
(C)
(D)

‘Manushi Chillar is .

- (©
(D)

- Myanmar
Indonesia =~

Laos

(A) RlchestWoman NRI

©(©) 24th November -

19.

16.
- districtof:

1Q)

(B) Captam of Indlan Woman :

Hockey
_Miss World, 2017 .

sentatlve to UN |

different International Bodies. Identify
the wrong pair : o

BRICS BANK Shanghal
ICAO Montreal '
(C) _UNiCEF_. Rome .
(D) ' WHO: London |

UN Day is celebrated on:

(B) 24thOctober .

HG - 1A127 |

lndlas Permanent Repre-,

17.

“The'

(D)  24th December

The earliest holy book of the Hindus

st

(A) TheGita,

(B) TheRamayana

(C) TheVeda
(D) Mahabharata

Mohenjo-daro is situated in the

Rupar
®) Sindh |
(©)

(D)

Larkana

Lahore

hame of Indlan ng who

. opposedAlexander

Below are given Headquarters of

- 18.

(D

(3)

(A) Ambhi }

(8) Dhanananda.”
(©) |
(D) Chandragupta

Porus

Chandragupta Maurya breathed his’

lastat:
A
(B)
(C)

Nalanda
Paithan '
Shravanabelagola

Kashi

~ (Turnover)




19,

20,

21,

22.

23.

(D) Sarﬁudragupté

 Thetitle ‘Napoleon of India' is usually

glven to:

| (A) Chandragupta

(B) .Kumaragupta C
(C) Skandagupta

Harshavardhana was defeated by :
(A) Shashanka =
(B) Pulakesinll ' -

- (C) Rampala

(D) Devpala

Prophet Muh.ammad,, the founderiof

- Islam, was bornin:

(A) 570

(B) 580
. (©) s10.
| (D) 590

Devala Deviwas marned to theAla-
ud-din’s eldest son

(A) KhirzKhan
(B) Ayub Khan .
(C) MalikNaib™

. (D) AlpKhan -

Wh invited Babur to India ?

{(A) DaulatKhan

(B) ShaibaniKhan
(C) FerozKhan
(D) - None ofthem

HG - 1A/27

24..

‘Name the chtef cause of decllnation, '

ofMugha[ Empire: |
(A) Fanaticism of Aurangzeb
(B) DeccanPo!_icyofAurangzeb

C) Weaksuccessor ofAurapgzeb

. (D) Alofthese

25.

(© Madhav Rao
- (D) ‘_Noneofthem

26.

(A) RaghunathRao

The last great Peshwa who ruled from
1761t0 1772A.D.was: .,

(B) BalajiRao | s

o

-The‘Permanent Sett!ement was :
| mtroduced in India by :

(A) Warren Hastlngs :
(B) Lord Wellesley
(C) Lord Cornwallis

D) RobertCllve B

27.

28.

" (A) Non- Interventton

Lord Mlnto followed the pohcy of

(B) Intervention S

() Both(A)and (B)""
(D) Noneofthese

-Who umted the S|khs mto one

compact, msptte of their 12 Misls ?
(A). . Guru Govind Singh + ='+ 2L

(B) RanjitSingh . "%
- (C) BandaBairagi < '~

(D) Allofthem -~ i

s Contd.




29, The black colour of regur soil is due

to the presence of > *.
(A

~(B) - Aluminum oxlde

fron oxnde

(C)  Titaniferous magnetlte

) Organic matter

30. Bari doab occurs between the

rivers .

(A) Ravi and Beas : .
" (B) Sutlejand Ravi

(©) Jhelum and Chenab

(D) Sutiej and Chenab ’

31 The Hlmalayas was orlgmated
during '

(A) Tertiary penod
(B) Mesozoic penod 1'-
(C) Carbomferous penod

(D) Gondwana penod

32. Mesosphere of the atmosphere
ocecurs between :

7 (A) Troposphere and Stratosphere
(B) | Exosphere and I_enosphere :
(©)

©

33, The Labrador current flows along the

Stratosphere and Exosphere

lonosphere and Stratosphere

wester’n coast of :
'(A) Greenland
(B) Japan

HG = 1A/27

34.

35,
GN
@
©
o

36.

©r
O

Brazil

Austraha

The Lucknow town |s suuated on the

®)
(©)
)

' nver .

'(A)

Gondok

Kosi

Yamuna.

- Gomti

The largest river of South India s :

Mahanadi

Godavari

: Krishna.

Ceuve.'ry

The high'eet peak of Western Ghat-

' | is:
- (B)

37.

(©
©)

Ddadébé&a
Analmudl ' :
Kalsubal o

Mahabaleswar

The angle of elevation of sun on 21st-

RGN

®)

(©

Oy

'_March at mid-noon is :

(Turn over_)l




38.

)
39,

40.

W

41.

42.

. _aner
A
* (B)

©)

The highest peak of Deccan Plateau

associated with:
Q
®)
(C)

Gondwana formations
Dharwarian formations
Cuddapah fo_rmati_one ‘

Tertiaryforfnatiens

Niagara falls is located between :

A)
()
€
(D)

Superior and ‘Mic'h‘igran lakes
Michigan and Erie lakes
Huron and E‘ri'e__'lekes :

Erie and Ontario lakes -

Coal of Damodar Valley Region is

Trade Winds in the Northern

Hemisphere blow from : -
North-West to South-East
South-West to Nerth-East
North-Eastto 'Sezl’j_th-l;:.ast |
South-—Eaet 't.e_h'i_ohh-\[vest

(B)
(C)
(D)

Bhakra dam is censtrupted on the

Jhe[um
.Chenab -
| Ravi :

Sutlej

(C)

is:
(A)  Anaimudi

(B) ' Amarkantak

HG - 1A27

(6)

43.

44,

45.

@

(C) Dhupgarh

(D) Doddabetta

Whlch one of the following Schedules'
of the Constltutlon of India contams
prowsmns regardrng Anti- defectlon
Act?

Seventh Schedule
Fifth Schedule
Eighth Schedule
Tenth .Sehed.ule

(B)
©
(D)

Which one of the following Articles of
the Constitution of Ind‘ia’ says thatthe
executive power of every state shall
be so exercised as notto impede or
prejudice the exercise of the
executave power of the Umon ?

A (A) Atticle 257 .
(B) Artlcle258‘
(C) _Arfic!e'355 TR

Article 358

dentify among the foilewing the f nal

o authorttyto decide whether a B|I| isa .

(©)

Money Bill or not :

(A) The PreSIdent
(B) A'The Un[on F:nance Mmlster
.The Speaker of Lok Sabha

(D) The Chairperson of Rajya :
" Sabha |

3
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46. Identify which origofthe following can
bring the resolution to remove the
Vrce President of India: |

e
._f,)

A .' "Elther House of Parllament
(B) Lok Sabha\elone_ |
() Rajya Sabha alorie
(D) Joint'Sitting ofParliament :
47. \dentify in which of the foliowrng
~ Panchayati Raj lnstrtutrons(PRis)

electrons in Odrsha reservatron for
women was rarsed 10 50% of seats *

; g.;.:;(A) 12002 PRIs Elections
i te(B) - 2007 PRIs Elections .
snle (C) 2012 PRIs-Elections
wehypy 2017 PRIsEléctlons ‘

48. In Wthh of the followmg cases did
 the Supreme CoUrt give the ruling

" that the Parliament did not have the
‘power to destroy the.basic structure

. of framework of the Constitution ?
(A) Champakam Dorairajan
~ (B)  Golaknath | |

(C) KesaVananda Bharatr
: (D) Mrner\raMills

49.. The members of the Constituent

Assembly whrch enacted the

IR

3 ponstltutlon of Indla were |

(A “Directly elected by the people

'.(i?{) “Nominated by the Governor
General . |

HG- 1N27

50.

51.

52.

(C) Elected by the -Legislative
Assemblies of various
provinces |

(D) Nominated by Congress and
Muslim League' ' |

Who commented "Power the first

love of.every polltlcran is a
treacherous beloved. Like those of
a pretty woman of litle virtues, her
wooers many and foyalties shlftlng "9

(A Ra1n| Kothari

'(B) Zoya Hassan

(C)- - Sudipta Kaviraj -~
(D). Subhash C. Kashyap

The Constitution of India borrowed

the idea of Drrectwe Pnncrples.
from:

(A) - Britain A' ' T

- (B) Germany
(C) France

(D) Ireland.

The Indian Federation can be
converted into unrtary one:

(A). At the time of. General :

E!ections :

- (B) By a two-third majority ¢ decision

of the Parliament

(C) Ifthe legrslatures of majority of

the states pass a resolutlon to
thateffect

(D) Dunng Natlonal Emergency

- (Turn over)




53.

- B
~ - activites of the various states

(©)

85,

, Code
A

)
- 54,

»
- (B)
(€)
(D)

)
@
)
‘ '(4)7

o
56. |
~ elected totheMumcupai Council of

The 'Co'nstit,ution authorizes the

President to establish Inter-State
Councilto -

(A) Divide the revenues between
the centre and states -

To co-ordinate thé planning

To settle the disputes between
various states or states and
~ centre ' '

' None of these

Which one of the followmg
fundamental nghts was described by

- Dr. Ambedkar as the ‘Heart and soul

ofthe Constitution’ ? o

Right to Equallty |

Right to Property

Right to Freedom of R’eligion
Right to Constitutional
. .Remedies = .

Arrange the emergence of .the
following Pressure Groups in Indian

Politics chronologically ™~
AltIndia Trada Union Congress
Hind Mazdoor Sabha
 AllIndia Kisan Sabha

Federation of Indian Chambers
of Commerce and Industry

1,4,3, 2” ‘
4,2,3,‘1'
4,3,1,2
1,2, 3, 4.-‘

()
(C)

One Umversaty student seeks to get

HG-1AR27

(8)

o7.

(B

O

his city. The validity of his nomination

‘would deperid on the important

condition, among others, that :

(A) He obtains permission 'froh_t the
Registrar of his University

He is the member of some
political parties

| His name figures in the voters’
list - o '

He submits a declaration

owmg 'allegiance to the
Constitution of !ndfa '

‘The satanes and allowances of the .

Judges of the H;gh Courtare charged
onthe: : . \

(A) Consohdated Fund of India
' '(B) Consohdated Fund of the State
| ‘(C) Cont:ngency Fund of India

| (D) CoptlngencyFund of the State

58..

o

{A) Ca!orle

Comp'utatio_n of ‘Gender Inequality
Index’ is made by COnsidering the -
followmg disadvantages forwomen :

intake, cereals
cbnsumptlon, living standard
‘and number of liVé births
Non-availability of safe drinking
water, free air and timely
healthcare "

(B)

(C) Lackofrestand enjoyrhent of -
leisure | ‘
Reproductive health; education,
empowerment artd partici-
pation in labour market |

-y Contd:




59.

60.

61.

Who has advocated ‘Prowdlng

“Urban ‘Amenities in Rural Area’ for
‘ allev;atmg poverty in India ?

(A) Mohandas .Keramchand

Gandhiin his, My Experiments.

with Truth’
(B) “Jawaharlal Nehru in his ‘The
- Discovery of india’

(C) B.S. Minhas in his ‘Planning .

" and The Poor’.

(D) AP Abdul Kalam in his ‘India

2020 : A Vision of the New
Mil[ennium’ L

_Which one ofthe foliowang is used to
' compute the Total Fertthty Rate ?

(A) Number of live births by a
woman during her entire
reproductive period

(B). lNumber' of women in their

reproductwe penod

(C) The ratio of women in their

reproductive ‘period to total

women

(D) The number of total births, live-

births plus still births per woman

In India, a Schednled'Bank.is_ one

" which is entered inthe :
(A} Banking RegulationAct, 1949

(B) New Economie Pblicy of the
- Government of India, 1991

HG — 1A/27

62,

- 83.

D) 'Average number of persons.

(C) Second Schedule of RBIAct,

1934

- (D) Orlgrnal Draft Paper of. the

| Fourth Fwe Year Plan 1966

Whtch Five Year Planin india for the

first time empha3|sed sustamed ‘
‘growth of Software and Informatton
Technology (iT) enabled services ? -

(A 'Nlnth Five Year Plan
(B) Tenth FlveYear Plan :

(C) Eleventh FlveYearPlan |

(D) Twelfth FweYear_Pﬂlan

Which one of the follewing is the |
_ deﬁnltlon of densrty of populatron ?

: (A) Average number of persons o

: hvrng persquare meter .

-(B) The re_\tlo of average numberof '

urban pop‘UIati’en living per

~ square kilometer to average.

: nuinberof rural‘population living

per square kilometer
(C) The number of total nopulati_on
" living per square milé

living per square kitometer

a2

(Tumn over)




64,

. 65,

) (A) .
®

()

o

." Though industrial licencing has been

tntegrated- Child Development -

Services (ICDS) Scheme was
~introduced in India:

A

In 1975 for providing food

supplementation to children
and pregnant/nursing women
(B) In 1980_f0r providi_ng food

supplementation to children
" and pregnant/nursing women

supp[ementatron to aII chrldren
below 5 years of: age

(D) In 1980 for provrdrng food

supplementatlon to all

prospective mothers -

Which of the following is fot a non-
convent[onal source of energy ?
thd energy '
Solar energy
(C) Energy from burning ‘animal

dungr o .
- Tidal ‘energy

. abolished in India with the adoption

HG-1A/27

the followmg industries :
(A) News. Print, Colour TVs and
Molasses .

Drugs, Phérmacéutt_c‘als and

®)

Steel and [ron

In 1975 for providing food

8.

of LPG programme, it is still valid for

. ("10)

67.

S ®

. ©

®

©)

).

(C) Plywood, Hazardous Chemicals;
Electronic Defense Equment
and Cigars

(D) Asbestos Industrial Explosrves :
and Aluminum X '

Which one of the following is a type

of foreign collaboration in India*? - -

(A) Joint participation between
indigenous firms and foreign

'
¥

governments -~ .
(B) Joinf participation between
foreign firms and "Indian
govemment
Joint participation between
‘fc_:re:gn MNCs and Ipdran PSUs .
Joint participation between

(9}
: forergn PSUs and Indian PSUs

.What is, meant by ‘Food Prrce

Inflation’ ?

- prices of food-articles rélative
tothose of manufacturesandall
other non-food artlcles ) '

Itis a sharper increase in the
prices of food arhcles relative
to the overali- prices of
manufactures only. -
Itis a sharper increase in the
prices of food articles relative
" to the overall prices of non-
manufactures non-food articles
only L o
It is a sharper increase in the
prices of food articles relative
to the prices of education,
- healthcare and recreations

Contd.

It is, a sharper increase in the



69.

-Wh,ich' one is a component of
‘petrochemical indd'stry ?

. (A) Metaland cdnclret'e pipes

(8) Edibleoils , .

~ (C) Goldmining. ..

70.

‘(D) Plastics

With which the Call Money Market

. deals ?

(A)  Long-term funds

“:""‘(B) Veryshort—termfunds .

[
PR

!
[

(C) Selling and buymg of equities’

(D) Selling - and .,buyrng of

o

poe government securities

7.
N revenue of the Government of

.....

WhIGh one is a source of non-tax

Indla ’?

“,<(A) Borrowmg from forelgn

S

govemments

(B) Alds fromforelgn countries

]

.- C) Dlsposmg gold reserve of india

with foreign Central Banks

(D) interest receipts '

... The abundance of a species
population, within its habitat, is

called:
(A) Rel-atlve Densrty

o (B) R’e‘g.lonal Den_srty

‘. (C) .Absolute Density

(D) Niche Density

HG—-1A27

.. ecosystem, the top consumers are ..

74

. 75.

786.
: '_country, which of the following states
has declared a partlcular butterﬂy as

73. In a food chain of a grassland.

(A) Herbivores

~ (B) Camivores

(C) ' Bactena

(D) ~ Either Camwores or Herblvores

How is oxygen cycle effected ?

(1) Human activites

; (2) Runnmg automobtles
(3) Consumptlon of fossrl fuels

" Choose the correct code

(A) 1 and 2

- (® 2and 3

(C) 1and 3

D) 1, Zand3

Prolect Tiger. was 1aunched by the
recommendatron of lndran Board of

Wlldhfe (IBWL) in: !

(A) 1971

(B) 1975
(©) 1973
(D) 1972

‘Recently for the first time in our

‘fSteteButterf{ly" 7?7

(A) Arunachal Pradesh
(B) . H_imach.a_lPrade_eh'_

(C) Karnataka
(D) Maharashtra . -

(Turn over):




77.

If you walk through countrywide, you -

are likely to see some birds stalking
-alongside the cattle to seize the
insects disturbed by their movement
_ through grasses. Which of the
-~ following is/are such birds/insects 7

(1) Painted Stork
(2) CommonMyna
@) B[aok-neckeq crane

| 'Seleot the correct answer ussng the

“(B)- 2only-

code glven beiow
(A) 1and2

(C) 2and3. ;.

- 78!
®)
)

. AD)
79

HG - 1A/27

®

(D) 3only e fars

‘Whatis B.0.D.?
A

The amount of O, utilized by
-Qrganisms in watef, . ..

The’ amount'of O2 utilized by

l."

posmon
“The total amount of0 present
inwater .. RRE
;,AILofthese T
Recent studies indicate that two of
the most dangerous components of

| _airpoliution around major cmes inthe

developed nat[ons are-:

Fine particles and’ sulphur
pollution - -

- (B) Carbonmonoxide'and ozone . -

' 80.

81.

(12)

. @
@)

»
®)

)

®)

~ Select the correct answer from the

' '(C)_ 'Lead;_rand volatile organic

compounds

- (D) Radonand carbon monoxide

Compared to 50 years ago, the
thinning.ozone !ayer has produced

~dramatic increases in case.of :

(1) . Asthma

Colour blindness
(3) Cataracts

Skin cancer | _

Which of the above is/are coftect ?
1and2

3and 4

1,2and 3

AI[ of these

(€)
(D).

Which of the foIIowmg can be found '

as pollutants in the dnnklng water in

some parts of India ? °
(1
@

Arsenic
Sorbitol_
- Fluoride
(4) Formaldehyde

Uranium

codes given below:

(A) 1and3
(B) -2,4and5
(C) 1,3and5
(D) Allofthese '

Contd.




82. ‘Cloningisan experinte'rital technique

used to produc'e e

7

@
©
D

Morphologiééfly; identical
organism o
Genetically :dehtrcal organlsm
Both (A) and (B) :

None of these

83. Aerosol is the heterogeneous

AN

~ mixture of:

- ®)

. |

©
.(D)

84 Which of thie' fo!lowmg is NOT

Liquid-liquid - .~

‘Solid-liquid -

Gas-liquid

Gas—solid

mag netic ?

e
14.)

()]

HG_— 1A/27

85,

(A)
(8)
©

The formula for conversion of

[ron

7 Cobalt -

Lead
Nickel

temperature from Kelvin to Celsius

B -

®

(B)
(C)

T0C= TK-273
T°C= TK+273
T°C=TK

Oy None of these

86.

87.

88.

Wh|ch of the followmg is NOT .

. correct ?

(A Comets are members of solar

| ‘system o |
(B) 'They have bnght head and Iong
tail - o
(C) Tailis aIWayé directed towards
the sun’ | ’

(D) They revolve around the sunin -

highly elllptlcal orblts

Image formed by a p[ene mirror is :

" (A) Real at the stirface of mirror

andrehla-fged‘ o
(B) '- Real, behind the mirror and of

| same size

(C) Viitual, béhind the mirror and of -

S the same srze S

IS
LRI

©) 'Vlrtual behmd the mlrror and of

' the en[arged snze as the object

......

A chtld eats- food rlch in
carbohydrates ahd avolds protesn in
the dlet Which: type.of nutritional

deficiency will affect the child ‘?

A Kwashlorker

(18)

(8) Nyotalopia

(C) Diabetes . -
(D) '_: Anemia - -

- (Turnover).




89..

',s_:ao. |

»
()

- (©)
(D)

9.

- (B)

©

-When -antibodies ‘extracted from

other animals are injected into your
body, what kind of j_mmunity do you
gain? ' |
A) Al’tlfiCIa”y actlve acqulred
1mmun|ty ‘
Artificially 'paee'itfe acquired
immunity i
Naturally actwe acquired
' zlmmumty

.....

' (D)- NatUraIIy passive acqulred

,lmmunlty

Wthh of the foIIowmg gland is both
exocring and endocrlne >

Pituitary
Pineal
Pancreas

Parathyrmd

-------

92

93.

When we press the bulb of a dropper.. '

with |ts nozzle kept in water airinthe |

dropper is seen to escape in the form
of bubbles..Once 'we release

pressure of the bulb, water gets filled

dropper is due to

(A) Pressuremwater

| (B) Grawtycfearth

(C) Shape ofrubberbulb

(D) Atmosphericprese__tlre .

HG - 1A/27

.m the dropper, The rise of water in

_!*__(A)
- (B)
(®}

95: .

(14)

®
®
©

A)

B
94.

- (©

Which is NOT a green house gas ?
Nitrogen t | |
Methane

Nitrous oxide

(D) Carban dioxide

Which one of the following is NOT

linked to imbalanced diet ?
Thalassemia

(B) Heart'disease
(C) -Oeteoborosis
Diabetes

Battenes e[ectr[c CFL bulbs and
electronlc ltems are

‘Biodegradable
‘Recyclable

Recyclable and hazardous

LI "
Lt A

waste

Norie ofthese =

©®)

‘Which of the foi[owmg is NOT

correct '? |

(A) Exerc;se does not help in
managing - psychologlcat
discomfort

(B) Exercise increases cardio-

tespiratoryﬁtness -

Exercise feduces risk of

diabetes |

(_D) Exercise he[ps' in managing

bone health

Contd,




- 96..

97.

ot
N

The blue colour of water inthe sea is 98. Which of the following is a d:etary
dueto the ) o _ def:c:ency disease 7
(A Reflection of blue- sky by sea (A) .Nightblmdness
' water (B) Diabetes '
(B) Reflection qof blue light by (C) Hypertension
impurities in sea water (D) Kidney stones
. b | |
(C) . Scattering of blue lightbywater g9, Tungsten is used as filament in
molecules - electric bulb because of :
- (D) Absorption of other colours (1) Have high resistance
. exceptblue by water molecules (2) High meiting point
Magnetic Resonance Imaging (MR1) @) High conductance
s used in medical diagnosis to " Whichonels correct?
obtaln images of lnternal organs of (A) 1 2
the body This is pnmanly p0531b|e : (B) 2, 3
because _ (C) 1,3
(A) Our bodypossesapermanent (D) 1,2,3
(B) N_[Rl uses an extemal magnettoJ 100. Where does computer add and
generate a magnetic field in our compared data 2
by (A Haddisk
““(C) fons motion along our nerve (B) Monitor
cells generates magnetlcf‘ ield (©) Memory chips
(D) None ofthese (D) ‘CPU-chip:"
(-.lllll.lllﬂli.llll e

HG - 1A/27

(Turn over)




